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Read the following passages and answer the questions given below :

Passage-1
- People moan about poverty as a great evil, and it seems to be an accepted belief that
if people had plenty of money, they would be happy and useful and get more out of
life. As a rule there is more genuine satisfaction in life and more obtained from life
in humble cottages of the poor man than in the palaces of the rich. I always pity the
sons and daughters of the rich man, who are attended by servants and have
governesses at a later stage; at the same time, I am glade to think that they do not
know what they have missed. .
It is because I know how sweet, happy and pure the home of honest poverty, is how
free from perplexing care and from social envies and jealousies—how loving and
united the members are in the common interest of supporting the family, that I
sympathise with the rich man’s boy and congratulate the poor man’s son. It is for
these reasons that from the ranks of the poor so many strong, eminent self-reliant
men have always sprung and must always spring. If you will read the list of the
“Immortals who were born not to die”, you will find that most of them have been
poor.
People moan about poverty as a great evil because :
(1)  they cannot be happy in poverty.
(2) they cannot be useful in life.
(3) they get less in poverty.
(4) they fail to get genuine satisfaction.
Which of the statements given above are correct ?
(A) 1land3 (B) 2and4 (C) 2and3 (D) 1land2
Why does the writer sympathise with the rich man’s boys ? Because they do not
know that :

(1) the house of the poor people is sweet and pure.

(2) the house of the poor people is free from perplexing care.

(3) the house of the poor people is free from social competition.

Which of the statement(s) given above is/are correct ? -

(A) 1land3 (B) 1and2 (C) 1 only (D) 2 only

Which type of people have sprung and will spring from the ranks of the poor ?
(A)  strong, dominating and eminent

(B) eminent, dominating and self-reliant

(C)  self-reliant, eminent and strong

(D)  self-reliant, eminent and God fearing

Why does the writer call the cottages of the poor—humble cottages ?

He call them so because :

(A) they are moderately furnished. (B) they are poorly furnished.

(C)  they are not attractive. (D)  they have nothing inside them.
The house of the poor is :
(1) sweet, happy and pure (2) free from perplexing care

(3) free from social evils

Which of the statement(s) given above is/are correct ? ‘
(A) 1land3 (B) 2and3 (C) 1and?2 (D) 2 only

P/A/MT/2012—A P.T.O.
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did not share the religious views of the rulers were tortured and burnt alive. Two
persons, cherishing different religions fought bloody battles. Science has enabled
man to reason and control over-flowing passions that arise from intolerance. In the
present, the countries, firmly believing in two different political ideologies are
coming together because they are becoming more and more tolerant. If science has
increased the horrors of war, 1t has increased the possibility of eternal peace, too,
which will come from tolerance.

Science has made man tolerant by :

(A)  making him think and reason (B)  making him more intelligent

(C)  making him more civilized (D)  making him happier

A tolerant person is one who :

(1) accepts the views of others.

(2) allows others to believe what they believe without punishing him.

(3) shows kindness to suffering people.

Which of the statements given above is/are correct ?

(A) 1 and 3 (B) 1 only (C) 1and?2 (D) 2and3
Science has increased -

(1) horrors of wars. (2) possibility of torturing others.
(3) possibility of eternal peace. (4) intolerance in man.

Which of the statements given above is/are correct ?

(A) land?2 (B) 1 only (C) 1and3 (D) 2and4
In past bloody battles were fought due to :

(A)  scientific progress

(B)  advancement of civilization

(C)  persons having different religious views

(D)  inventions of weapons

Science has enabled man to -

(1) think and reason. (2) control over intolerance.
(3) fight bloody wars.

Which of the statements given above is/are correct ?

(A) 1land? (B) 2and3 (C) 1only (D) 2 only

P/A/T1/2012—A P.T.O.
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the nations. Co-operation is a big word but it simply means working together. If
nations can learn to work together as friends, they will soon find a way of settling
their disputes in 3 friendly way. Instead of being jealous and proud of their rights,

mankind and agree to obey these laws, they will never fight with each other and
there will be no war.

The world can get rid of war if -

(1) there is cooperation among all the nations.

(2)  nations settle thejr disputes in a friendly way.

(3) nations are proud of theijr rights.

Which of the statements given above is/are correct ?

(A) 1 only (B) 2and3 (C) 1land3 (D) 1and?2

(A)  when they learn to obey laws.

(B)  when they learn to work together.

(C)  when they cease to be Proud of their rights.

(D)  when they agree to be negligent of others.
Nations will never fight if they :

(1) agree to work for the common good of mankind.
(2) learn to help others and obey rules.

(3) learn to feel proud of their possessions.

(4) agree to disagree,

Which of the statements given above is/are correct ?

(D)  all nations must promise to obey laws.

Through which of the following channels a healthy person acquires maximum
knowledge ?

(A)  sight (B)  hearing (C)  smell (D)  touch

P/AMI/2012—A P.T.O.
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The correct sequence of communication 1s :

(A) Message — Sender — Receiver (B)  Message — Receiver — Sender
(C) Sender — Message — Receiver (D)  Receiwver — Sender — Message
Which of the following is the conveyance of message communication ?

(A) Spoken (B) Wrnitten

(C)  Gesture and Symbols (D)  All of these

Which of the following is known as offective communication ?

(A) When message and symbol are transmitted accurately.

(B) When speaker and listener have equal quality.

(C) When message source is technically advanced.

(D) When speaker has good knowledge of the subject.

Which of the following is not the communication context ?

(A)  Religious context (B)  Physical or Environmental context
(C)  Social context (D) Psychological context

Which of the following 1s a source of non-verbal communication ?

(A) To give examples (B)  Pictorial representation

(C) To tell stores (D) To ask questions

Which of the following 1s a ‘psychological barrier for effective communication ?

(A) Wrong perception (B) Wrong pronunciation

(C) Wrong place (D) Wrong gesture

Which of the following is correct about communication ?
(A) It is a dynamic process.

(B) It is a static process.

(C) It is both dynamic and static process.

(D) It is neither dynamic nor static process.

Which of the following is most useful listening skill 1n communication ?

(A) Competitive listening (B) Passive listening

(C)  Active listening (D) Biased listening

Which of the following principles 18 not related to effective communication ?
(A) Clarity (B) Attention

(C) Coordination | (D) Hierarchy

P/A/MI/2012—A P.T.O.



10

25. ST 99 % o0 S&ayss 34 ®
(A) YO 311 TRl Al RIS &Y A =6 84 91fey |
(B U@ 1 9FTES Argar 359 e |ie T
(C)  UuE AR U I U 7 AR TaE afEy & e =rfen |
(D) O T 9TH AT 3= BT HiET |
26.  TrATERad 7 | 1 F9ue £I96 & gedis & gaiiue Sugsd gree () ® 7
(A)  STEUHTE GEH0] (B)  9¥oT Yl
(C)  SATHH-9THA T 999% (D) YUY (higdE )

ST (W, . 27 9 28) :
A9 1 T 99 B 57 T weanl & fred § ) B wed & 9 ey e ) B - 99

27. h ¥

HT IAHF [orferd € |
iz 1 fofera gfgam T80 8 o
e .

(1)
(I1D)
(A)
(C)

28. A

¥ forfera, aafaer T o (1) =% IfEHH, 93 & |
FS AAF FlEHE T2 & | (IV) 3 gfgmm, aafs § |
®ae [ AR 11 fed gl & (B) et 11 3R 111 frerd ot € 4
Faet 11T 3R [V frerd w&r & | (D)  &Fa [ AR 11 7oy 9e1 § o

g1 &1, IIHETERT © |
quft A, 9% ©
H5 IMFRRT, 1A € |
et

(I)
(I11)
(A)
(C)
29. 9291 ;

FE HFE, T 2 | (I} = FTA, FA 8

~

FF THE, FIFTER] ¢
Ao MG [ 927 € | (B)  wad {1 98 &

Fad = 111 981 & (D) A EA e & €
TEfAETE S AT [ I AT E IR ol & gy § S99 99 £ 98

2 - /JIF

R0 Fifem |

hdd

7 To180 IR a1 AR 91 @ e =nfen ?

e
(D
(ID)
(A)
(C)

&, 9% Al & gaim fasmg & fou snavas €

I, TE THHA] F1 A T

FIA dH 1 I T | (B) Ha@ g% Il Y91 & |

% I AR 1S9 9o § | (D) AJAEdHR AT TR I G & |

P/A/II/2012—A




295.

26.

11

The essential condition for non-verbal communication is :

(A)  Sender and receiver both must be physically fit.

(B)  Receiver must have high mental ability.

(C)  Sender and receiver both must belong to same cultural context.

(D) Sender should have high language efficiency.

Which of the following is most suitable parameter of evaluation of communication
skill ? | . |

(A)  Barrier free communication (B)  Simple language

(C)  Face to face contact (D) Feedback

Dii'ections- (Q. Nos. 27 and 28) : .

217.

28.

29.

In the following questions statements are followed by conclusions. Choose the answer
response that gives the correct conclusion which logically follows from the given
statements. You have to take the given statements as true even if they seem at
variance with commonly known facts.

Statements : |

Some scientists are literate.

No literate is intelligent.

Conclusions :

(I) ~ Some literates are scientists.

(II)  Some intelligents are scientists.

(III) Some scientists are not intelligent.

(IV)  All intelligents are scientists.

(A)  Only I and II follow. (B)  Only II and III follow.

(C)  Only III and IV follow. (D)  Only I and III follow.

Statements : |

All dogs are vegetarians.

All blacks are white.

Some vegetarians are black.

Conclusions :

(I) Some whites are dogs. (II)  Some blacks are dogs.

(III) Some whites are vegetarians. |

(A)  Only I conclusion follows. (B)  Only II conclusion follows.

(C)  Only III conclusion follows. (D)  Both conclusions II and III follow.

Directions : The following statement is followed by two arguments numbered I
and IL. Decide which of the options is correct about the given arguments.
Statement : |

Should so much money be spent on education ?

Arguments : |

(I) Yes, It is essential for all round development of the person.

(I) No, It leads to wastage of resources.

(A)  Only argument I is strong.

(B)  Only argument II is strong.

(C)  Both I and II arguments are strong.

(D) Neither I nor II is strong.

P/A/MI/2012—A P.T.O.
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Directions : This question contains six statements followed by four set of

combinations. Choose the set in which the statements are logically related.

Statements :

(1) Some social workers are honest people.

(I)  Some social workers are laborious.

(III)  All honest people are laborious.

(IV) All laborious people are honest.

(V)  Some laborious people are social workers.

(VI) Some who are honest, are social workers.

(A) LII, III (B) IIL IL IV (C) V,VLIV (D) III, VL II

Directions : In the question given below a statement is followed by two assumptions

I and II. You have to consider the statement and the following assumptions and

decide which of the assumptions 1s iniplicit in the given statement.

Statement :

“A house is required on rent.”

— an advertisement.

Assumptions :

(I Houses are usually available on rent.

(I) People will read and respond to the advertisement.

(A) Only assumption I is implicit (B)  Only assumption II is implicit

(C) Both I and II are imphecit (D) Neither I nor II is implicit

Directions : In the following question a statement is followed by two courses of

actions I and II. A course of action is a step to be taken for improvement or follow up

in regard to the problem, policy etc. on the basis of the information given in the

statement. You have to assume everything in the statement to be true, then decide

which of the two given suggested courses of actions logically follows for pursuing.

Statement :

The sale of shoes has gone down. Considerably causing great concern to the company.

Courses of action :

(I) The price of shoes should be reduced. |

(I The company should make a study carefully about other brands of shoes
in the market.

(A) Only I follows (B) Only II follows

(C) BothI and II follow - (D)  Either I or II follows

P/A/MI/2012—A P.T.O.
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Directions (Q. Nos. 33 and 34) :

33
34.

In the following questions a passage is followed by some possible inferences. You
have to examine each inference separately in the context of the passage and decide
upon its degree of truth or falsity. Mark answer (A) if you think the inference 1s
‘definitely true’, (B) if inference is ‘probably true though not definitely true in the
light of the facts given, (C) if “the data given 1s inadequate”, i.e. from the facts given
you cannot say whether the inference is likely to be true or false; (D) if the inference
is ‘definitely false’ i.e. it contradicts the given facts.

Passage : Many parents who were unsuccessful at Science and Maths themselves
have the depressing experience when their children also showing poor performance
in the Science and Maths. Being hopeless in these subjects seems to run in families;
or does it ? While certainly it seems likely that ‘confidence’ in Science and Maths
passes from parent to child, it is less certain that logical and mathematical’ abilities
are inherited in this way.

Logical and Mathematical abilities are acquired.

In some families, some generations together have been found to be poor in science
and mathematics. | |

Directions (Q. Nos. 35 to 37) :

30.

36.

37.

A figure is given below with four intersecting circles, each circle representing a
group of persons having the quality written against it. Study the figure carefully
and answer the questions that follow. The number represents the number of persons
of related quality.

Hardworking "q Intelligent

Truthful v Honest

What is the number of persons who have all four qualities ?

(A) 89 (B) 67 (C) 20 (D) 45
The largest number of persons related to the quality :

(A) Honest (B) Hardworking

(C) Truthful (D) Intelligent

How many persons have quality of being honest as well as intelligent ?
(A) 45 (B) 69 (C) 72 (D) o4

P/A/I1/2012—A P.T.O.



38.

16
frefafed § @ S f53 sreus, afeen 3R 14 & &= 999 31fis T8 Ty &) g9 §

o o OO0

9T (W, &, 39 9 41) :

39.

40.

4].

42.

43.

freafafeaa gaael «) smyds gest = i T 9o & 3w WY

% 9RERH A, B, C, D, E 3R F ©: G ¥ |  FAGAH, J94F, i, WUER, fafhcas
AR TSt (stfiyg=ar) € | S F & TR €, S U 5Aaas § | 994 D &1 faare
AQEA T | C, WUHR &l faae gHid @ g3 © | B, E d F &l A © | 9@R H 7 faafed

THT |
AFTE QTN GTY T ?
(A) TSt (B)  <wwH (C) =maTS (D) W%

frfefea @ | uftar & faarfead g0 «94 § ?

(A) ADSRCE (B) ADSRFC (C) ADIRBE (D) AD 3RBC
E & Hadd 51 ¢ ? +

(A)  Thid (B) Tafecas

(C)  TeifER (3Ifa=) (D) fAfyea 7@ fan 1 SR

¢ & fF R 9 YA g 3y frdt Y wenstt | sneh || face gu gAd © | S /i 2
(A) 39 St GerFan & foe faeema |

(B) 19 =afad &l 59 & foe =<t § %g 937 |

(C) 379 TR & 1gw (FHre) &) S8 99 & fag el |

(D) D & S 3R A F o™ < |

Sl 3T 37T HATI B GW-FH S TH Y TR R AT € SR MU STA & fF A TR TA R R T
dlge Siel TEl & Safsh 99-6& § hIs A6l ¢ | 379 = HA ?

(A) 99T ARt &1 g &30 |

(B) <9UHE! &l 9 9 @3¢ 9¢ Hid @ [T Fe |

(C) 39 @4 9@ q @R 98 HL o7 |

(D) 39 HB Tel F41 3R =t R I G g o a8 Saeh 1 T T

ST STIAT & Yok YIS STH1 Shia o U 1 STavashal ¢ | TSH W Feld gQ T9eh! T9al
¥ W 2 oo §

(A) 39 949 i 39 91E T 7 a1 91 A& Y[ ST HAA |

(B) 3T U & HIfcish ol G I TIH HTT |

(C) 379 5237 Yferd &l |9 & |

(D) 379 e H o4 9 < |

- P/A/IV/2012—A



38.

17

Which of the following diagrams best depicts the relationship between teacher,
female and mother ?

» OO0

Directions (Q. Nos. 39 to 41) :

39.
40.

41].

42.

43.

Read the following informations carefully and answer the questions given below :
There is a group of six persons A, B, C, D, E and F in a family. They are Psychologist,
Manager, Lawyer, Jeweller, Doctor and Engineer. The doctor is the grandfather of
F who is a psychologist. The manager D is married to A. C, the jeweller, is married
to the lawyer. B is the mother of F and E. There are two married couples in the

family.
How is A related to E ?
(A) Father (B) Grandfather (C) Uncle (D) Brother

Which of the following are the married couples in the family ?

(A) ADandCE (B) ADand FC (C) ADand BE (D) AD and BC
What is the profession of E ?

(A) Lawyer (B) Doctor

(C) Engineer (D) Cannot be determined

While walking along the river bank you hear someone shouting—
save ! save !! You would :

(A) also shout for help

(B) jump into the river to save the person

(C) ask the coastguard to save the person

(D) do nothing and let the person shout

When you pass by a meeting hall in your office, you see that all the fans and lights
are on and nobody is there in the hall. What will you do ?

(A) . Report to the officer in charge.

(B) Call the peon to switch off the fans and lights.

(C) You will switch off the fans and lights yourself.

(D) You will do nothing and pass by thinking that it is not your business.

You need money to deposit examination fees soon. While walking on the road you
find a wallet containing money :

(A)  You would keep the money and deposit your examination fees.

(B) You would try to find out the owner of the wallet.

(C) You would handover the wallet to the police.

(D) You would distribute the money among the poor.

P/A/MI/2012—A P.T.0.
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You get invitation card of your friend’s 10-year old daughter’s marriage. You would :

(A)  Attend the marriage

(B)  Report the matter to the police

(C)  Neither attend the marriage nor report the matter to the pohce

(D) Point out to your friend the illegality of the matter.

A house in your neighbourhood suddenly is set on fire. What would you do ?

(A)  try to save your own house first of all.

(B)  shout to collect the people.

(C)  inform the fire brigade.

(D)  try to extinguish fire by yourself and inform the fire brigade.

On your way to office you notice a man lying on the road who was hit by a two-

wheeler. You are in hurry to reach the office in time as you will have to attend an

urgent meeting. What would you do ? |

(A)  you would not take notice of it and go away.

(B)  you would simply inform the police telephonically.

(C)  you would take the injured to the hospital.

(D) you would ask others to take the injured to hospital.

Your sister is appearing at a competitive examination. You are appointed as a paper

setter of one of the subjects of this exam. ‘Nhat would you do ?

(A)  accept the offer and set the paper.

(B)  refuse the offer and not set the paper.

(C)  set the paper because your sister is not appearing at exam of that subject.

(D)  keep the whole matter confidential.

You require an assistant. You are asked to select a young man from the group of

interviewees. You would select :

(A)  one who is physically strong.

(B)  one who is both physically and mentally strong.

(C)  one who is only clever and good looking.

(D)  one who is honest though physically weak.

The first step in the decision-making process is which of the following ?

(A)  developing decision criteria .

(B)  allocating weights to the criteria

(C)  analyzing alternatives

(D)  identifying a problem

Which of the following factor(s) is/are considered while making decision ?

(A) Facts (B)  Legal limitations

(C) Nature of the programme (D)  All of these

You have been invited to attend interview for the post of Civil Supply Officer by

Public Service Commission of your state. You reach the railway station but there is

a long queue at the booking window. The train is about to leave. You board the train

without ticket. Ticket checker enters your coach. Seeing him you decide to :

(A)  hide yourself in the toilet.

(B) request the ticket checker to let you travel on urgency of attending
the interview.

(C)  produce yourself for necessary legal action.

(D)  begin to quarrel with the ticket checker.
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Which of the following is not a characteristic of effective decision makers ?

(A) Initiative (B) Comprehensiveness

(C)  Flexibihity | (D) Dogmatism

One of your subordinates is in the habit of eating meals in a restaurant without
payment. You come to know this through someone. You would :

(A) enquire from the restaurant owner.

(B)  call the subordinate to your room and reprimand and suspend him.

(C)  shout at the subordinate and ask him to pay the amount.

(D)  turn a blind eye thinking that it is a minor event.

While travelling by a crowded bus you notice that an old lady having a small child in
lap is standing as there is no seat for her to sit. What would you do ?

(A)  Ask the conductor to make a seat available for the lady.

(B) Ask the lady to sit where you are sitting.

(C) Ask the lady not to travel by the crowded bus.

(D) Ask someone to offer his seat to the lady.

In a certain code, COMPUTER is written as LNBVQSFU. How is BULKHEAD written
in that code ?

(A) MVCILEBF | (B) KTAILEBF

(C) MTAGJEBF (D) KTAGJEBF

If the letters in the word POWERFUL are rearranged as they appear in the English
alphabet, then the position of how many letters will remain unchanged after the
rearrangement ?

“(A) None (B) One (C) Two (D) Three

Find the missing number :
5, 16, 49, 104, 7, 280
(A) 115 (B) 148 (C) 170 (D) 1381
In a certain code language CAT is coded as 24, what will be the code number for
BAT in the same code language ? |
(A) 32 (B) 21 (C) 23 (D) 42
How many rectangles are there in the following figure ? |

[

(A) 15 (B) 16 (C) 17 (D) 18

If XY = 600, ABC = 6, then GO + DO will be equal to:
(A) 150 (B) 180 (C) 165 (D) 155

A man is facing north. He turns 45° in the clockwise direction and then 90° in the
anticlockwise direction. Which direction is he facing now ?

(A) South-west (B) North-west (C) South-east (D) North-east
Pointing to a woman in a photograph a man says, “Her mother’s mother is the mother
of my father.” How is the man related to the woman in the photograph ?

(A) Uncle (B) Grandson

(C) Nephew (D) Maternal Cousin

If ‘sky’ is called ‘sea’, ‘sea’ is called ‘water’, ‘water’ is called ‘air’, ‘air’ is called ‘cloud’
and ‘cloud’ is called ‘river’, then what do we drink when thirsty ?

(A) Sky (B) Air (C) Water (D) Sea
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Which of the followmg diagrams indicates the best relation between travellers, train
and bus ?

@O )

Which of the following does not belong to the others ?

(A) Guitar (B)  Violin (C)  Flute (D) Harp

Find out the alternative which will replace the question mark ? |
College : Student : : Hospital : ?

(A) Nurse (B) Doctor (C) Treatment (D) Patient

Kavita walked from A to B in the East 10 feet. Then she turned to the right and
walked 3 feet. Again she turned to the right and walked 14 feet. Now, how far is she
from A ? |

(A) 27 feet (B) 24 feet (C) 5 feet (D) 4 feet
If + means —, — means x, x means + and + means +, then 16 + 4 x 2 -5+ 8 = ?
(A) 58 (B) 18 (C) 44 (D) 42

Four different positions of a cube is given below. Which number is contained on the

face opposite to that containing 3 ?

- PROE

(A) (C) 4 (D) 5

The sum of four consecutwe two digit odd numbers, when divided by 10 becomes a
perfect square. Which of the following can possibly be one of these four numbers ?

(A) 21 - (B) 25 (C) 41 (D) 67

In a class of 50 students, 18 take Music, 26 take Art and 2 take both Art and Music.
How many students in the class are not enrolled in either Music or Art ?

(A) 6 (B) 8 (C) 10 (D) 16
P/A/I1/2012—A P.T.O.
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1 2) 2]
(“‘g) i FAA T
1 1
(A) ~_ﬁ (B) 31 (C) =81 (D) 81
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73.

74.

79.

76.

Bl

78.

79.

29

Consider the number n(n + 1) (2n + 1), where n is a positive integer. Then which of

the following is necessarily false ?

(A) n(n+1)(2n+1)is always even

(B) n(n+1)(@2n +1)is always divisible by 3

(C) n(n +1) (2n + 1) is always divisible by the sum of squares of first ‘n’
integers

(D) n(n +1)(2n + 1) is never divisible by 237

Satish was given some money by his father on his birthday. Satish spent all of it in

five stores. In each store he spent one rupee more than half of what he had when he

came 1n. How much did he get from his father ?

(A) T25 (B) <30 (C) 46 (D) Y52

The total age of some 7 years old and some 5 years old children is

60 years. If a team is to be selected from these children such that their total age is

48 years, in how many ways can it be done ? -
(A) 1 (B) 2 (C) 3 (D) 4

| 3 2
By how much is Zth of 52 lesser than grd of 99 ?
(A) 27 (B) 33 (C) 39 (D) 29

If a number is subtracted from the square of its one-half, the result is 48. Which of
the following is a square root of that number ?

(A) 8 (B) 6 (C) 4 (D) 2
The value of (2 - lj (2 — ﬁ} (2 ~ §) (2 - ﬂ) 1S :
3 5 7 999

(A) Kk B 1001 o 1001 D) 1001

999 ) 75 ©) 99 3
If the numerator of a fraction is increased by 20% and its denominator be decreased

16

by 10%, the value of the fraction is 91" The original fraction is:
(A) S B = C g (D "

5 (B) 7 (C) 2 ) 7

o |
9
1Y 1
The value of | _§ f 1S :

A -—= - B g (C) -81 (D) 81

P/A/I/2012—A P.T.O.
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fduT (W. . 81 9 82) :

81.

82.

r fe T gueE @ 9REaR @ g1 U He ¥ fafi= uel 3 fR T ed v 39wt 99 &)
YT € | JUE 1 3789 T FTfehd 9a1 & ST SIf9T
S0

WAVAY
AETATA

afg 9fEar =1 & 311 T 60,000 %, ﬁﬁmmﬁmmmﬂw%

(A) % 6,000 (B) R 4,000 (C) 3,000 (D) < 4,500
qfar gr1 fd A fFan T e = ® .
(A) 742,800 (B) 44,200 (C) 48,400 (D) ¥49,200

T (U. &. 83 9 84)

83.

89.

TRART M TIAFTHX W@ Y I MU E | 3197 W 77 fahedi & SR ) g :

(A) %9 99 X & A ¢ 93 &1 W 31 & fau vaiw 2, fogq faa w94
Y & SR W YYH &1 3T &1 §a1 51 gehal |

(B) %9d %¥9 Y ¥ @ TU 9y &1 W 37 & fou waiw 2, foq faa sum
X & YR T I HT W a1 fGI1 =1 Fohell |

(C) YV F1 I M FE D AT fad X I 9a Y TIIE T8l & dfcw oAl

97 X 9 Y Teh 919 Y3 &l IW 21 & fau gai<a & |
(D) TEIHYTX TFY TH 9Y &1 | 999 &1 I A & o0 99i< &1 © |
10 T 20 % HE Z T HEA § 1zah‘lm=ra=m%7
FITX: Z T G T&T ¥ |
HATY :Z, G0 Z2 - 23Z + 132 =0 HI A T |
EAFT SR8 fFan o & ? E]/ F 9% 91 a0 F 4 ¢ E oM 3 5 92 o ¥
HFITX:EQAF % 91 8§ F A E T 311 &1 qo1 3 20% T A1ET o071 ¢ |

FEY:EWE FH ae fag G R I E ¥ G 7% 91 U6 G & T: Eamaaﬁﬁz WS T € |

8 TGl w1 3Ed 24.3 ¥, sﬂﬁ@uma‘twaﬂmlmammﬁﬂﬂmaﬁmzlz% |
B3 I, Ad A 3 FHH 71 33 A 8 FH ¥, T T WIS fepa ¥ 2

(A) 248 (B) 265 (C) 276 (D) 294
- P/A/II/2012—A



www,.sarkariresults.ic

21

Directions (Q. Nos. 81 and 82) :

81.

82.

The pie diagram given below shows the spending of a family on various items and 1ts
savings during a month. Study the pie diagram and answer the following questions :

Masc.

Transport

Clothings

Rent Education

Food
If the total income of the family is ¥ 60,000, then the difference in expenses on food

and education 1s : |

(A) 6,000 (B) 4,000 (C) 3,000 (D) 4,500
Total spending by the family per month 1s :

(A) 42,800 (B) 44,200 (C) 48,400 (D) 49,200

Directions (Q. Nos. 83 and 84) :

These questions are followed by two statements X and Y. Choose the correct answer
on the basis of the given alternatives :

(A) Statement X alone is sufficient to answer the question asked but the statement
Y itself is not sufficient to answer the question.

(B) Statement Y alone is sufficient to answer the given question, but statement
X alone is not sufficient to answer the question.

(C) Both the statements X and Y together are sufficient to answer the given
question but neither statement by itself is sufficient to answer the question.

(D) Two statements X and Y even when taken together are not sufficient to
answer the question.

7 is a number between 10 and 20. What is the value of Z ?
Statement X : Z is an even number.
Statement Y : Z is a solution of equation Z% — 23Z + 132 = 0.

What time will it take to travel from E to F ? Travelling from E to F and coming back
from F to E takes 5 hours.

Statement X : It takes 20% more time to travel from E to F than it takes to travel

from F to E. i
Statement Y : G is midway between E and F and it takes 27 hours to travel from E
' 2
to G and back to E.

The average of 8 readings is 24.3, out of which the average of first two is 18.5 and
that of next three is 21.2. If the sixth reading is 3 less than seventh and 8 less than
eighth, what is the sixth reading ?

(A) 248 (B) 265 (C) 276 (D) 294
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86.

87.

88.

89.

TRI9T

AT Site 36 Y 1 qa@ g @ e | S o1 R faseand 59s w1 ura €, 3 fRt o= ot
I TR | YA gfg AR GY F o W AT 91 | Afus viraenet, @ ik favme wifve
1 Hl YA a9 H F A T | T i IR Feq ¥ 7 I IE-Tawe & fea @ @l ae
STell 8, S %101 A9 99S 999 99T SEed © |
UG RIS & STTER A7 Hi AT 1 I SUR F1 & 2
(A)  dfg, Iy IR HegAreiierd (B)  gHgiieral
(C) Toiam (D) |l
TSI AR TTHIO SIS 1 21 W SAas 1 € | GHS § o, Saeeen 3R < St @
feTe Temara yonelt 6 35 e | YeEmEd wi wmifees giaser iR weuraar 2 faum s Y
$HY I8 YR Scferdt g8 foh T9 TWHYSR 81 € — U ol hHe 9o 3R =G W SN B &
q91 3W TR HE G 1 Afqeh Haea § | 98 YR & TH-T0T ) AR ©
94l ol IEYE T T4 §; FIF
(A) 99 YO 37ea=d Ui Sae ¥ |
(B) UEIgd-¥9 & fou faum s
(C) =i 1 A 9 3R =g I fid 8 & |
(D)  v=rEE Sfaear | S B ¥ |
TEEd-YOTel 1 35T 3aferd ge 1 @
(A)  TEEd g SavEEd 9t |
(B) G A vNIfa, g%l 3R /g i T 3MavTF ot |
(C) YoId &t 9uI H yfasar ot |
(D) Y=rEd 39 g fAfHa faum @ wfaa gt ot |
Hifeed S{a" &l TSR T 8 | 98 Sod A G- far &1 4R s7a1 & 3R 9953 &
faaam= ot A & | wfec Sfod | s1arg oIHg #1 EE | 3Ed fafga sy 9w sk
e & =™ GHSE F The FLt ¢ | 398 Wi, sfierd iR St 1 e 'R W
HMET A © | 39 YR R Wifecd, Siaq sy o S A o1t wide yftrwr frwar &
TR @ AR A 8 e w i § 2 |
(A) Hifed Siiaq H HagH1 o1 T9R T8 S ¢ |
(B) W # fadewwe=1 99 # Wit &1 A T0d S ¥ |
(C) wifed Sia ¥ S=fiehar U1 iaT & |
(D) uifed Siiaq § 74F 3< T EF ¢ |
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91.

29

Fel 3R e &1 GaY SAREE § | HRR HeqAl SR 991d T U RG9S & qHE
Y TY YA Al ¢ | TH SR ST FH Hell & WEY W AE YHE 981 € | FHAHR
St & a91d ®9 %1 g fafya 72 w1, 33 98 eyl ©9 F 95 Fl & | 36 THR St 6l

el 9L 3R hedl 1 Siiaq 9 9 G479 USdl © | HAdg aqai?[‘aaﬁawn & foau' wae o=

. H Sfem & T IwErh wen € ST A T | wfa ot Bfaeivro a3 faen w —

“Sad TR & 7 Hf9 FH1 HH 81 T

et afir woRw 1 oft e B e

HFA € S el Fl Hon & A9 &

@it A Fon H FG & 1"

oo SR Ao s B A ¥ 2

(A) TUHTRIAYTHE |  (B) TUH TR WAMEE |
(C) ot o o | anfem € (D)  Sitad § SHil 39ErT § |
FTe T S T 2

(A) 0 Iqd 1 o S B (B) Sl hegAl W I @ |
(C) it SaqarT & | (D) S SHomag WG = |

wfa ot AR (@ A wfa-FH % fam A war e I -
(A) FHfadar 9 9ARSH 2F1 =ifed |
(B) hfaar @ 99 &1 S99 fad |

- (C) Hfa w1 3T A g faaT g |

(D) wfaar d FARSH & WY-WYg 39 9ew ot e =i |

g fordt 39 1 U1 61 TS SNUR § | TSIl 1 WIS 1 Ggg HiLd | TSZHTH Sl YfFeht

Tl Bl & | Ao, AT iR Wik e Tl it g § i TF T il T T

oFl =fed | T @ 39 T Wl SR GG ) e SR T © | 3 feel fRt &= fadw

& 7, 3ifag AR T HT 91 ® | 39H F it 7 SR e foemm ® S U aegwTen | e
| P/A/II/2012—A P.T.O.



93.

4.

92o.

30
oifed | it =) v gaifus §, &S 8§ & waifus g=-ufrwmstt &1 yorm e & |
STFTETETON, gRee SR fadmn ot &t uen # wegh R # FRO A 991 SHEEiaE €9 9
qem € | IE-TaEE ol aEAE & &% H el gl Hi Tt A A E W e | 3 feet @

fafdae ®9 9 9RG F UKW T |

f&<t YRa AT &, FIfH ¢ |

(A)  T&t H gy & |t o7 SR e faeE ©
(B) g% wwqul fedtumdit Wil ! SlieTarel i WIS ¥ |
(C) T& & = a=ia TN HI TSI H @I ¢ |
(D) &t & waiifers gx-afeet 1 g ST |

AT ) vl 791 o § 2

©(A) gy IR gpfa & 99 & fad

(B) TSI WEdl & WA & wadq & fad |

(C)  TSHids FHE-wHamd & fad |

(D) RER fa=rl & EE-ye[ & fad |

¥eai-2u @ fia Bt & — WP | gl 1 e R aren @E ot gt € @ ® | 9 -5
= i & T STe T § S RO 1 S e T % 9 @ ford vt $ SvE F
¥ | Y fiee wgd <o Bl ¥ | e Tema | difed 9% SR gAY I &Ea ® 9IS A

| e A Ta vae S siehdl T ¥ 1 U s H A gUS 3 Y TavEshdl T ¢ | 9% Tl

=fred B A € | 9% ToE @ FRO G i 781 Ul | SHY g §US SR 1B 2
frrafafed el § A PR FHATA T ?

(A) ToHi-2w R AT fA<w Tea & STerfasiR war e |

(B) =1 =37 aren Sited | A1l el 9T |

(C)  oTot srean @ difed free TERl 1 Gamar | g8l ®dal ¢ |

D) FREFIATMEAE '
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F A F EIR |
98 qrerfire sraeen § HR i faafed gl ?
(A) gafs 1 A Jon & B (B) 9 R
(C) HHA AR TUE & FHR (D) wfasa & sifTse & faem & HR

(C) aaa%wdaﬁéua‘ﬁ%mﬁm%l
D) v gEE F I 5 B S T

100, “Fredertag’ &1 @ adE € 2
(A) 3T 7@ o (B)  Hdsa-90dul Bl

(C) fafas gfifeafa S &M (D) “wﬁ,wqaﬁ"—%mﬁqm
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